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1 4 R B3 T L 1:24.81 1:18.04 2:42.85 0.00
2 3 FEEE By T L 1:33.39 1:13.05 2:46.44 2227
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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1 22 il M2 T F =L T 55.63 5862 1:54.25 0.00
2 19 Ak L T L 57.056 5947 15652  20.07
3 21 R R T =S 1:00.06 1:02.70 2:02.76 75.23
4 20 HLE KRS Vi a4 1:34.98 1:31.96 3.06.94 64260
DID NOT START [1st RUN] 0
DID NOT FLNISH {1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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